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Assignment 1

Group 5: Apurv & Sanjay

Question 4

1. Determine region in the z plane represented by R(z) > 3.

Solution @

R(x,y) >3

Figure 1: Region in the complex plane showing R(z) > 3, the dotted line is not included
in the region.


jayesh
Note
You should add some explanation, before giving the plot.
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Note
You should mention assignment number, too. It is good that you have attempted by two methods.
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Note
Problem definition is missing.
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Note
You should write the answer in polar form.
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Note
Problem number and problem definition are missing.
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